Real World Word Problems
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Matrix B is 10% bigger than A
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    Entries in the final matrix represent profit    for both crops at each of the 3 outlets.
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8a. The distance from A to B and then B to A is the same.  The matrix is symmetrical about the leading diagonal.

8b. They are 0’s as they describe the distance from A to A, for example.  This distance will be 0 miles.
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P2 represents the changes in party affiliation after two elections.
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Approx 79 sick males, approx 38 well females and approx 76 female carriers.

13. 
[image: image20.wmf]40039101355121.2100

15231875110501.350

256121218797001.52

48447.1913682.25778.24

18429.5111813.85159.6

30990.5216452.45147.44

éùéù

êúêú

·

êúêú

êúêú

ëûëû

éù

êú

=

êú

êú

ëû



These numbers should be rounded as you cannot have a portion of a bank account.
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